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: FIRST YEAR
MATH 123 APPLIED MATHEMATICS l
COMMON WITH ELECTRICAL, INSTRUMENT, FOOD,
- COMPUTER, ELECTRONICS, COMPUFER INFORMA' TION
TM ECOMMUNICATION, FOOD PROCESSING, PRESERVAT 10’\
- CRITICAL HEALTH CARE & BIO-MEDICAL T‘ECH .

o PAPER 'B' PART-B (Subjectlve)

.Time. 2 ,30 Hours o PlEes : Sy e . Marks: 60 e =
Q ! Wnte s'hart &mwers to any. Eighteen (18) from the fﬁﬂﬂ“ll’lﬂ‘ questmns : g g 18x2§36 :

: 'I B xpresq complcx number in  the x. i Ly from [f Izi = 2 a-"'

-_-‘show that Zz + Z is cueal numbcr

I"actonze Zx + 'Sy

b i--F ind'?bfﬁﬁiugaté'ahd“1116’61111'113"of’cbm“pf,éx' nl__.lﬁ"fb?g

,,rWntesm}Identltyf_quat;gn m G

Wutc a.n 1dmtity equatmn of m i
xi3
(x— 2)(x+'§)

] ._Z.Express the Boglean functlon xy & yz + y7 = xy + z

e Mlmm,ize the expressmn hy.use. o.f Boolean Iruie_:s X AB’C + AB + /1[3(

iConva:T the exprebsmu to product of sum fo_ _

| _‘-F‘lﬁd the dlstaﬂce between A(Z -z) B(Z ’7)



DAE/// A-20/5/8 STy . = ' PART-B

20; - Find: the éin};le from the line with slope :?- to the line with _slope ~

e Hhow that thc three lines. x-y +6 = O 2xcty-5=0, -x-2y+11= 0 41'_::. concurrent.

2 Find distance to the line 3x-2y+12=0 from the point (-1.7)

25 Duzummc the real number k so that two Imes S5¢—3y =12 and Jex — y.= 2 will be
parallel.

24, Find the eqjuation of the circle with the centre (-v/2, —-2) r=4

25.  Find the cqua.tipn of circle having (-3 ,7) and (2.1) as end point of its diameter.

26. Fi{}d equation of circle with centre (-1,3) and tangent to Sc—_axis.

27.  Reduce the equation in to standard form. x? + y? — 4x + 6y — 12 =0

Note: Attempt any three (3) questions. . A - 3x8=24

Q2 (a) Reduce the complex number %ﬁl to thc torm a + ib. (4)
. (b) Prove that e Cos 6 + ;SmQ s (4
: : i |
_____ — Q3 - V_Resoive. _i}jrt'o Part_ial .F_lj_action.s a?““%\it——ﬁ e e (8)
Q4 () Convert the given éxpression to Sum of Product form (A+B)(_B_+C)(E+C) (4
(b)  Prepare truth table for the Boolean expression XYZ +XYZ 4)
Q.5. (@)  Let P(0,4) Q(5,0) and R(x,y) are collinear with P between R and @, and if 4)

|RP|=10|PQ| find the coordinators of R. :
(b)  Find slopé of the sides and altitude of the triangle whose vertices are the point (4
(23) (0,- l)and(-@%]) =
Q.6 Find the equation of circle passifig through (2.-1) and (-2,0) WJth centre on 2x-y-1=0. (8)
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